
)D[�2SWLRQ��$����%����



January,25’2000

 1.FAX Option Type 450e (A874) ............................................................   2

 2.FAX Option Type 450e (A874) ............................................................   4

 3.PC-FAX Expander (B368) ...................................................................   6

 4.FCU Board (A874)...............................................................................   8

Parts Index .............................................................................................  15

PARTS CATALOG

INTRODUCTION

This chapter instructs you the numbers and names of parts on this machine.

INDEX to PARTS CATALOG



  1.FAX Option Type 450e (A874)

2



  * A874 1550 Decal Quick Dial  1

  1 A874 7220 Operation Panel - Fax Ass’y  1

  2 A693 7210 CF Cover  1

  3 A233 1541 Keytop - Top Pause  1

  4 A693 7211 Copy Key - NA  1

  5 A693 7212 Fax Key  1

  6 A233 1572 Fax Sheet - Operation Sub Unit  1

  7 A693 7275 FAX Board  1

  8 A233 1573 Pin - Dial Change  2

  9 A233 1574 Case Operation Sub Unit  1

 10 A874 7224 Operation Sub-unit Upper Ass’y  1

 11 A693 7225 Decal - Operation Sub Unit  1

 12 A874 7223 Display Panel  1

 13 A233 1571 keytop - Dial  1

101 0433 0102B Tapping Screw - M3x10

Index

 No. 
Part No.

Q’ty Per

Assembly
Description Index

 No. 
Part No.

Q’ty Per

Assembly
Description

  1.FAX Option Type 450e (A874)

3



  2.FAX Option Type 450e (A874)

4



  * A874 8607 Operation Manual  1

  * A874 8657 Quick Reference Guide  1

  1 A233 5286 Modular Connector Ass’y  1

  2 H515 5049 Monitor Speaker  1

  3 A233 5280 Harness - FCU-NCUSP  1

  4 H523 5350 Telephone Cable  1

  5 A874 5001 PCB - FCU - NA  1

  6 A233 7345 Decal - Tel/Line  1

  7 H553 3861 Decal - Super G3  1

  8 A233 1390 Decal - Operation Sub Unit  1

  9 5488 6122 PCB - NCU  1

 10 A874 5836 Bracket - NCU  1

 11 A285 5852 Connector Bracket  1

101 0451 3006B Tapping Screw - M3x6

102 1105 0194 PCB Stud

103 0353 0060B Philips Pan Head Screw - M3x6

104 1105 0349 Edge Saddle

105 1105 0061 Nylon Clip - 5n

106 0451 3008B Tapping Screw - M3x8

Index

 No. 
Part No.

Q’ty Per

Assembly
Description Index

 No. 
Part No.

Q’ty Per

Assembly
Description

  2.FAX Option Type 450e (A874)

5



  3.PC-FAX Expander (B368)

6



  * B368 8660 Operation Manual  1

  1 A233 5195 PCB - DIU  1

  2 A233 5282 Harness - FCU-DIU  1

  3 A816 5801 Bracket G4 TR29  1

101 0451 3006B Screw - M3 x 6

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

  3.PC-FAX Expander (B368)

7



  4.FCU Board (A874)

8



  4.FCU Board (A874)

9



  4.FCU Board (A874)

10



  4.FCU Board (A874)

11



  4.FCU Board (A874)

12



  * A874 5001 PCB - FCU - NA

  1 A285 5570 IC - FACE

  2 H545 7106 Model R288F-26

  3 H545 7113 Hybrid IC - HICXK1

101 1102 4461 Connector - 3P

102 1102 4619 Connector - 2P

103 1102 4629 Connector - 12P

104 1102 4630 CT Connector

105 1102 7625 Connector - TX24-80R-LT-N1

106 1102 7699 Connector - TX24-50R-LT-N1

107 1102 8036 Connector - 53871-6816

108 1102 8088 Connector - 353871-1

109 1102 8089 Connector - 53493-0801

110 1107 0622 Fuse - 3.15A 250V

111 1204 1266 Slide Switch

112 1204 2373 Key Bord Switch - SKQDPA

113 1206 0082 Lithium Cell- CR2450-HJ3

114 1206 0084 Lithium Cell- Vl2330/1HF

115 1400 0398 Transistor - 2SC2412K

116 1400 0637 Transistor - DTC144EUA

117 1400 0680 Transistor - 2SA1813

118 1400 0752 Transistor - FMY6

119 1402 0804 Silicon Diode - 45V - 0.3A

120 1402 1058 Diode Array - DA114

121 1402 1336 Diode - 1SS355

122 1402 1343 Diode - RB106L-40

123 1402 1345 Diode - UDZ3.6B

124 1402 1365 Diode - RB751B-40

125 1403 0664 LED - BR1102W

126 1403 0665 Diode Array - PY1102W

127 1407 1925 IC - SN15189ANS

128 1407 1926 IC - SN75188NS

129 1407 2143 TTLIC - 74F244SJ

130 1407 3292 IC - TC74HCT244AF

131 1407 3378 IC - TC74HCT245AF-TP2

132 1407 3646 TTLIC TC74HCT08AF

133 1407 3952 IC - ANALOG SW- 4053

134 1407 4845 C-MOSIC TC7S66F

135 1407 4996 ROM - LH28F800SGE-L70

136 1407 5061 IC - Flash Memory - 16MX8/16 70NS

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

  4.FCU Board (A874)



137 1408 0461 IC - NJM4558M

138 1408 0595 IC - NJM2904M

139 1408 0942 IC - BA4558F

140 1408 1105 IC - RH5VL28C

141 1408 1237 IC - BU8872FS

142 1408 1266 Regulator - LT1086CM-3.3

143 1408 1333 IC - BA6162F

144 1408 1416 IC - RH5RI331B

145 1503 0758 Oscillator - MC-306 32.768MHZ

146 1503 0774 Oscillator - CSTCC 4.19MG244

147 1503 0855 Oscillator - 56.448MHZ

148 1601 7752 Resistor Array - 10K Ω ±5%

149 1601 7867 Resistor - 33 Ω ±5% 1/16W

150 1604 1953 Capacitor - 10µF16V ±20%

151 1604 4333 Capacitor - 100µF±20% 10V

152 1604 4335 Capacitor - 220µF±20% 10V

153 1604 4518 Capacitor - 3.3µF±20% 25V

154 1605 0724 Capacitor - 510pF

155 1605 0860 Capacitor - 0.068µF±10% 50V

156 1605 0976 Capacitor - 1µF+80% -20% 10V

157 1605 1044 Capacitor - 0.22µF±20% 10V

158 1606 1189 Capacitor - 200pF ±5% 50V

159 1607 0280 Inductor - BLM41

160 1607 0808 Inductor BLM11B141DPB

161 1607 0821 Coil - ELD10E221

162 1607 0917 Inductor - LK2125 8R2K

163 1607 1042 Filter - ACB1608M-600

164 1630 1681 Resistor - 680 Ω  ±5%

165 1630 2331 Resistor - 330Ω 1/8W ±5%

166 1630 3100 Resistor - 10 Ω ±5% 1/10W

167 1630 4100 Resistor - 10 Ω ±5% 1/16W

168 1630 4101 Resistor - 100 Ω ±5% 1/16W

169 1630 4102 Resistor - 1.0KΩ ±5% 1/16W

170 1630 4103 Resistor - 10KΩ ±5% 1/16W

171 1630 4104 Resistor - 100 Ω ±5% 1/16W

172 1630 4105 Resistor - 1.0MΩ ±5% 1/16W

173 1630 4122 Resistor - 1.2K Ω 5% 1/16W

174 1630 4123 Registor - 12k Ω - ±5% - 1/16w

175 1630 4134 Resistor - 130K Ω  ±5% 1/16W

176 1630 4184 Registor - 180k Ω ±5% 1/16w

177 1630 4204 Resistor - 200KΩ ±5% 1/16W

178 1630 4222 Resistor - 2.2K Ω ±5%

179 1630 4223 Resistor - 22K Ω ±5% 1/16W

180 1630 4330 Resistor - 33 Ω ±5% 1/8W

181 1630 4332 Resistor - 3.3K Ω ±5% 1/16W

182 1630 4472 Resistor - 4.7KΩ ±5% 1/16W

183 1630 4473 Registor - 47k Ω - ±5% - 1/16w

184 1630 4562 Resistor - 5.6k Ω - ±5% - 1/16W

185 1630 4680 Resistor - 68 Ω ±5% 1/16W

186 1630 4823 Resistor - 82K Ω  ±5% 1/16W

187 1634 0000 Resistor - 0 Ω 1/16W

188 1634 1243 Resistor - 124K Ω  ±1% 1/16W

189 1634 2002 Resistor - 20K Ω  ±1% 1/16W

190 1634 2200 Resistor - 220 Ω  ±1% 1/16W

191 1634 2490 Resistor - 249 Ω  ±1% 1/16W

192 1634 4022 Resistor - 40.2K Ω  ±1% 1/16W

193 1634 6192 Resistor - 61.9 Ω ±1% 1/16W

194 1644 0100 Capacitor - 10µF±20% 10V

195 1644 0470 Capacitor - 47µF±20% 10V

196 1644 2100 Capacitor - 10µF±20% 25V

197 1644 6101 Capacitor - 100mF ±2%

198 1660 0100 Capacitor - 10PF ±0.5pF 50V

199 1660 2101 Capacitor - 100pF - ±10% - 50V

200 1660 2471 Capacitor - 470pF - ±5% - 50V

201 1660 4102 Capacitor - 1000pF ±10% 50V

202 1660 4332 Capacitor - 3300pF - ±10% - 50V

203 1660 6103 Capacitor - 10000pF - +80%-20%50V

204 1660 8104 Capacitor - 0.1µF+80-20% 25V

205 1902 0041 IC - 1M X8 70NS G10

206 1907 0003 RAM - 64M 4MX1650NS EDO

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

Index

 No. 
Part No.

Q’ty Per

Assembly
Description

13



3$576�,1'(;



Part No.Description
Page and
Index NoDescription

Page and
Index No.Part No.

A874 1550 Decal Quick Dial   3-  *

A874 5001 PCB - FCU - NA   5-  5

A874 5001 PCB - FCU - NA  13-  *

A874 5836 Bracket - NCU   5- 10

A874 7220 Operation Panel - Fax Ass’y   3-  1

A874 7223 Display Panel   3- 12

A874 7224 Operation Sub-unit Upper Ass’y   3- 10

A874 8607 Operation Manual   5-  *

A874 8657 Quick Reference Guide   5-  *

B368 8660 Operation Manual   7-  *

H515 5049 Monitor Speaker   5-  2

H523 5350 Telephone Cable   5-  4

H545 7106 Model R288F-26  13-  2

H545 7113 Hybrid IC - HICXK1  13-  3

H553 3861 Decal - Super G3   5-  7

Parts Index

16



Part No.Description
Page and
Index NoDescription

Page and
Index No.Part No.

A233 1390 Decal - Operation Sub Unit   5-  8

A233 1541 Keytop - Top Pause   3-  3

A233 1571 keytop - Dial   3- 13

A233 1572 Fax Sheet - Operation Sub Unit   3-  6

A233 1573 Pin - Dial Change   3-  8

A233 1574 Case Operation Sub Unit   3-  9

A233 5195 PCB - DIU   7-  1

A233 5280 Harness - FCU-NCUSP   5-  3

A233 5282 Harness - FCU-DIU   7-  2

A233 5286 Modular Connector Ass’y   5-  1

A233 7345 Decal - Tel/Line   5-  6

A285 5570 IC - FACE  13-  1

A285 5852 Connector Bracket   5- 11

A693 7210 CF Cover   3-  2

A693 7211 Copy Key - NA   3-  4

A693 7212 Fax Key   3-  5

A693 7225 Decal - Operation Sub Unit   3- 11

A693 7275 FAX Board   3-  7

A816 5801 Bracket G4 TR29   7-  3

5488 6122 PCB - NCU   5-  9

17



0353 0060B Philips Pan Head Screw - M3x6   5-103

0433 0102B Tapping Screw - M3x10   3-101

0451 3006B Tapping Screw - M3x6   5-101

0451 3006B Screw - M3 x 6   7-101

0451 3008B Tapping Screw - M3x8   5-106

1102 4461 Connector - 3P  13-101

1102 4619 Connector - 2P  13-102

1102 4629 Connector - 12P  13-103

1102 4630 CT Connector  13-104

1102 7625 Connector - TX24-80R-LT-N1  13-105

1102 7699 Connector - TX24-50R-LT-N1  13-106

1102 8036 Connector - 53871-6816  13-107

1102 8088 Connector - 353871-1  13-108

1102 8089 Connector - 53493-0801  13-109

1105 0061 Nylon Clip - 5n   5-105

1105 0194 PCB Stud   5-102

1105 0349 Edge Saddle   5-104

1107 0622 Fuse - 3.15A 250V  13-110

1204 1266 Slide Switch  13-111

1204 2373 Key Bord Switch - SKQDPA  13-112

1206 0082 Lithium Cell- CR2450-HJ3  13-113

1206 0084 Lithium Cell- Vl2330/1HF  13-114

1400 0398 Transistor - 2SC2412K  13-115

1400 0637 Transistor - DTC144EUA  13-116

1400 0680 Transistor - 2SA1813  13-117

1400 0752 Transistor - FMY6  13-118

1402 0804 Silicon Diode - 45V - 0.3A  13-119

1402 1058 Diode Array - DA114  13-120

1402 1336 Diode - 1SS355  13-121

1402 1343 Diode - RB106L-40  13-122

1402 1345 Diode - UDZ3.6B  13-123

1402 1365 Diode - RB751B-40  13-124

1403 0664 LED - BR1102W  13-125

1403 0665 Diode Array - PY1102W  13-126

1407 1925 IC - SN15189ANS  13-127

1407 1926 IC - SN75188NS  13-128

1407 2143 TTLIC - 74F244SJ  13-129

1407 3292 IC - TC74HCT244AF  13-130

1407 3378 IC - TC74HCT245AF-TP2  13-131

1407 3646 TTLIC TC74HCT08AF  13-132

1407 3952 IC - ANALOG SW- 4053  13-133

1407 4845 C-MOSIC TC7S66F  13-134

1407 4996 ROM - LH28F800SGE-L70  13-135

1407 5061 IC - Flash Memory - 16MX8/16 70NS  13-136

1408 0461 IC - NJM4558M  13-137

1408 0595 IC - NJM2904M  13-138

1408 0942 IC - BA4558F  13-139

1408 1105 IC - RH5VL28C  13-140

1408 1237 IC - BU8872FS  13-141

1408 1266 Regulator - LT1086CM-3.3  13-142

1408 1333 IC - BA6162F  13-143

1408 1416 IC - RH5RI331B  13-144

1503 0758 Oscillator - MC-306 32.768MHZ  13-145

1503 0774 Oscillator - CSTCC 4.19MG244  13-146

1503 0855 Oscillator - 56.448MHZ  13-147

1601 7752 Resistor Array - 10K Ω ±5%  13-148

1601 7867 Resistor - 33 Ω ±5% 1/16W  13-149

1604 1953 Capacitor - 10µF 16V ±20%  13-150

1604 4333 Capacitor - 100µF ±20% 10V  13-151

1604 4335 Capacitor - 220µF ±20% 10V  13-152

1604 4518 Capacitor - 3.3µF ±20% 25V  13-153

1605 0724 Capacitor - 510PF  13-154

1605 0860 Capacitor - 0.068µF ±10% 50V  13-155

1605 0976 Capacitor - 1µF +80% -20% 10V  13-156

1605 1044 Capacitor - 0.22µF ±20% 10V  13-157

1606 1189 Capacitor - 200pF ±5% 50V  13-158

1607 0280 Inductor - BLM41  13-159

1607 0808 Inductor BLM11B141DPB  13-160

1607 0821 Coil - ELD10E221  13-161

1607 0917 Inductor - LK2125 8R2K  13-162

Part No.Description
Page and
Index NoDescription

Page and
Index No.Part No.

18



1607 1042 Filter - ACB1608M-600  13-163

1630 1681 Resistor - 680 Ω  ±5%  13-164

1630 2331 Resistor - 330Ω 1/8W ±5%  13-165

1630 3100 Resistor - 10 Ω ±5% 1/10W  13-166

1630 4100 Resistor - 10 Ω ±5% 1/16W  13-167

1630 4101 Resistor - 100 Ω ±5% 1/16W  13-168

1630 4102 Resistor - 1.0KΩ ±5% 1/16W  13-169

1630 4103 Resistor - 10KΩ ±5% 1/16W  13-170

1630 4104 Resistor - 100 Ω ±5% 1/16W  13-171

1630 4105 Resistor - 1.0MΩ ±5% 1/16W  13-172

1630 4122 Resistor - 1.2K Ω 5% 1/16W  13-173

1630 4123 Registor - 12k Ω - ±5% - 1/16w  13-174

1630 4134 Resistor - 130K Ω  ±5% 1/16W  13-175

1630 4184 Registor - 180k Ω ±5% 1/16w  13-176

1630 4204 Resistor - 200KΩ ±5% 1/16W  13-177

1630 4222 Resistor - 2.2K Ω ±5%  13-178

1630 4223 Resistor - 22K Ω ±5% 1/16W  13-179

1630 4330 Resistor - 33 Ω ±5% 1/8W  13-180

1630 4332 Resistor - 3.3K Ω ±5% 1/16W  13-181

1630 4472 Resistor - 4.7KΩ ±5% 1/16W  13-182

1630 4473 Registor - 47k Ω - ±5% - 1/16w  13-183

1630 4562 Resistor - 5.6k Ω - ±5% - 1/16W  13-184

1630 4680 Resistor - 68 Ω ±5% 1/16W  13-185

1630 4823 Resistor - 82K Ω  ±5% 1/16W  13-186

1634 0000 Resistor - 0 Ω 1/16W  13-187

1634 1243 Resistor - 124K Ω  ±1% 1/16W  13-188

1634 2002 Resistor - 20K Ω  ±1% 1/16W  13-189

1634 2200 Resistor - 220 Ω  ±1% 1/16W  13-190

1634 2490 Resistor - 249 Ω  ±1% 1/16W  13-191

1634 4022 Resistor - 40.2K Ω  ±1% 1/16W  13-192

1634 6192 Resistor - 61.9 Ω ±1% 1/16W  13-193

1644 0100 Capacitor - 10µF ±20% 10V  13-194

1644 0470 Capacitor - 47µF ±20% 10V  13-195

1644 2100 Capacitor - 10µF ±20% 25V  13-196

1644 6101 Capacitor - 100mF ±2%  13-197

1660 0100 Capacitor - 10PF ±0.5pF 50V  13-198

1660 2101 Capacitor - 100pF - ±10% - 50V  13-199

1660 2471 Capacitor - 470pF - ±5% - 50V  13-200

1660 4102 Capacitor - 1000pF ±10% 50V  13-201

1660 4332 Capacitor - 3300pF - ±10% - 50V  13-202

1660 6103 Capacitor - 10000pF - +80%-20%50V  13-203

1660 8104 Capacitor - 0.1µF +80-20% 25V  13-204

1902 0041 IC - 1M X8 70NS G10  13-205

1907 0003 RAM - 64M 4MX1650NS EDO  13-206

Part No.Description
Page and
Index NoDescription

Page and
Index No.Part No.

19


	 1.FAX Option Type 450e (A874)  2
	 2.FAX Option Type 450e (A874)  4
	 3.PC-FAX Expander (B368)  6
	 4.FCU Board (A874)  8
	Parts Index  15

